é Alpha Waves Coaching Centre

www.alphawavescoaching.com

fOO

NEET, JEE, CA, TUITION
ERODE - 12, CONTACT: 9500939789

NEET MACRO TEST 8 (25.12.2024)

20x4=80 MARKS

Botany: Biotechnology: Principles & Process, Biotechnology & its Applications
Zoology: Animal Kingdom, Structural organization in animals, Biomolecules
Chemistry: Haloalkanes & Haloarenes, Alcohols Phenols & Ethers

Physics: Electromagnetic Induction, Alternating Current, Electromagnetic Waves
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The two core techniques that enabled birth of

modern biotechnology are

1) Genetic engineering &
engineering

2) Tissue culture & microscopy

3) Genetic engineering & chromatography

4) Tissue culture & cryopreservation.

bio-process

During PCR technique primers annealed to the
template DNA at

1) 3'-end

2) 5-end

3) At any location

4) Both at 3 & 5* ends

The linking of antibiotic resistance gene with the
plasmid vector became possible with

1) Endonucleases

2) DNA polymerase

3) Exonuclease

4) DNA ligase

The first ever restriction enzyme isolated and
characterized was

1) Hind |

2) Hind 11

3) EcoRl

4) Pwvul

Tag-polymerase mediated step in PCR technique
is

1) Denaturation

2) Annealing

3) Extension

4) All

Herbert Boyer performed studies on restriction
enzymes of

1) Haemophilus influenzae

2) E.coli

3) Salmonella typhi

4) Streptococcus pneumoniae
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Observe the given image and choose the correct
option

1) E — Clal recognition site

2) D — BamHI recognitionsite
3) H — EcoRlI recognition site
4) F — Pvull recognition site

Tagq polymerase, used in polymerase chain
reaction is obtained form
1) Thiobacillus aquaticus
2) Thermus aquaticus
3) Escherichia coli
4) Agrobacterium tumefaciens

Which kind of therapy was given in 1990 to a
four year old girl with Adenosine Deaminase
deficiency (ADA)?

1) Gene therapy

2) Chemo therapy

3) Immunotherapy

4) Radiation therapy

Which of the following Bt crops is being grown
in India by the farmers?

1) Brinjal

2) Maize

3) Soyabean

4) Cotton

Which body of the Government of India
regulates GM research and safety of introducing
GM organisms for public services
1) Bio-safety committee
2) Indian council for Agriculture Research
3) Genetic engineering Approval Committee
4)  Research  Committee on  Genetic

Manipulation.

Transgenic animals are those which have
1) Foreign DNA in some of its cells

2) Foreign DNA in all its cells

3) Foreign RNA in all its cells

4) DNA and RNA both in the cells
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The silencing of mMRNA has been used in
producing transgenic plants resistant to:

1) Boll worms

2) White rusts

3) Nematodes

4) Bacterial blights

C-peptide of human insulin is

1) a part of mature insulin molecule

2) responsible for formation of disulphide
bridges.

3) removed during maturation of pro-insulin to
insulin.

4) responsible for its biological activity.

____is mobile genetic elements.
1) Viruses

2) Bacteria

3) Transposons

4) Insertion sequences

Select the odd one w.r.t. type of symmetry
commonly present in them.

1) Sponges

2) Ctenophores

3) Coelenterates

4) Echinoderms

Bilateral symmetry first evolved in the members
of phylum

1) Arthropoda

2) Aschelminthes

3) Platyhelminthes

4) Chordata

18. Which of the following animals does not undergo

19.

metamorphosis?
1) Pleurobrachia
2) Pheretima

3) Pinctada

4) Pila

Which set includes arthropods of economic
importance providing useful products to
humans?

1) Limulus, Locusta, Bombyx

2) Culex, Limulus, Laccifer

3) Apis, Bombyx, Laccifer

4) Anopheles, Locusta, Limulus
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20.

Indirect development involves transformation of
a larval stage which is morphologically distinct
from the adult. This phenomenon is not seen in
1) Ascidia

2) Asterias

3) Ancylostoma

4) Alligator

21. Which type of simple epithelial tissue is made of

22.

23.

24,

25.

thin layer of flattened cells with irregular
boundaries?

1) Squamous

2) Cuboidal

3) Columnar

4) Ciliated columnar

Choose the odd one w.r.t. location of compound
epithelium.

1) Lining of stomach

2) Moist surface of buccal cavity

3) Pharynx

4) Dry surface of skin

In cockroach, which type of mouth parts has
grinding and incising region?

1) Labrum

2) Mandible

3) Labium

4) Maxilla

Select the correct sequence of organs in the

alimentary canal of cockroach starting from

mouth.

1) Oesophagus — Pharynx — Gizzard — Crop
— Midgut — Ileum — Colon — Rectum

2) Pharynx — Oesophagus — Gizzard —
Proventriculus — Midgut — Colon — Ileum
— Rectum

3) Pharynx — Oesophagus — Crop — Gizzard
— Mesenteron — Illeum — Colon —
Rectum

4) Pharynx — Crop — Oesophagus — Gizzard
— Mesenteron — Ileum — Rectum —
Colon

Which of the following connective tissue lacks
cells that secrete fibres of structural proteins?

1) Alveolar tissue

2) Blood

3) Adipose

4) Tendon
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26.

27.

28.

29.

30.

31.

32.

Identify the given compound.
(I'.:Hz— OH

(I3H—OH

CH, ~ OH

1) Glycerol

2) Arachidonic acid

3) Stearic acid

4) Palmitic acid

S’ oxidised + S reduced — S oxidised + S’
reduced. The above reaction represents the
action of

1) Dehydrogenase

2) Lyase

3) Transferase

4) Hydrolase

Consider the matches and select the wrong
option.

a) Pigments | i) Anthocyanin

b) Lectins | ii) Concanavalin-A

c) Drugs iii) Abrin, Ricin

1)aandb
2) b only
3) aonly
4) c only

Most abundant protein in animal world is
1) RuBisCO

2) Elastin

3) Keratin

4) Collagen

Chitin is a homopolymer, made up of monomeric
units called

1) Glucosamine

2) N-acetylgalactosamine

3) N-acetylglucosamine

4) Galactosamine

Addition of Brz on cis—2-butene gives

1) A racemic mixture of 2,3—dibromo butane
2) Meso form of 2,3—-dibromo butane

3) Dextro form of 2,3—dibromo butane

4) Laevo form of 2,3—-dibromo butane

Statement-I: The C — X bond length in CHz — X
is shorter than C — X bond length in CeHs — X
Statement-11: C — X bond in C¢Hs — X has partial
double bond character

1) Both Statement I and 11 are true

2) Both Statement | and |1 are false

3) Statement | is true and Statement 11 is false
4) Statement 1 is false and Statement 11 is true
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33.

34.

35.

36.

37.

Consider the following alkyl chlorides with
regard to their reactivity towards SN1 reaction
with a given nucleophile under identical
conditions.

Cl Cl

|
CH, - CH-CH-CH,
(1)

|
CH, - CH, - Cl|CH, = CH-CH-CH|
0 (I

DiI>H>1
2) 1> 11> 1
A>1>111
4HH>10>1

Consider the following reaction
CH3Br+ Nu™ — CHz — Nu + Br~
Where Nu™ = PhO~, ACO~, OH™ and CH30O~
M an oam o av)
the correct order of the rate of reactions for the
nucleophiles 1 to IV is
DIV>HE>T>11
2)IV>II>1>1
AI>1U>1> 1V
HN>IV>I>1

In the reaction,
F

CH;ONa*t
CH, -CH, -CH-CH, —cmona

the major product formed is
CH,-CH, -CH-CH,

1) é)CH3

2) CHz3—CH=CH-CHs

3) CHz—CH> - CH =CHz>

4) CHz — CH; — CH2 — CH20CH3

Trans-1-Bromo-2-phenyl cyclopentane on being
heated with ethanolic KOH produces mainly

1) 1-phenylcyclopentene

2) Trans-2-phenylcyclopentanol

3) 3-phenylcyclopentene

4) Cis-2-phenylcyclopentanol

Increasing order of rate of reaction towards
neuleophilic substitution

Cl~ Cl Cl
NO,
NO,
(i) (ii) (iii)
Di<ii<iii
2)iii <ii<i
3)i<iii<ii

4) iii < i < i
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|
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4) CHz — CH; — CH2 — CH20CH3
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38.
OH

Fe
+Br, ——» ?
(Major product)

OH
Major product is

1) OH
: OH
Br
OH
2) t :Br
OH
3) OH
B

4) OH

Q,

39. When C;HsMgl is made to react with acetone
and the addition product is hydrolysed, we get
1) A primary alcohol
2) A secondary alcohol
3) A tertiary alcohol
4) An ether

r OH
r

40. Identify the most stable carbocation involved in

following conversion

(IJH OH O CH,

I . Il
Hﬁ—C—C—Cmﬂ%Hﬁ—C—?—Cm+Hp
|
CH, CH, CH,

OH
+
H,C — C — C — CH,

[
CH, CH,

1)

2) ?m?H
Hp—?—g—cm
CH,

OH
+ |
H@—?—?—cm
CH, OH

3)

4) . ?W
Ho—?—?—gm
OH CH,

38.
OH

Fe
+Br, — ?
(Major product)

OH
(WPSHETNLD ailemeTGILIT(HETT

1) OH
: OH
Br

OH
2) Br
OH
3) OH
Br OH
4) OH

Br

39. CoHsMgl syenizr o1 GLmapi et ailenedfluisF
Cauiwiu’ B,  abBHe0 STy  BITBUGUY
CaLIWtLELEUTS), BLO&E SlenL LIl

1) (P SHETMLD HLEOBABTED

2) BIERILTID [Hen60 SLE0HAMBTED
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4) 9w DI

40. Jdeteupd  omBmmiseiey  FBHUL (heen  Hda|Lb
Blemeouwlmest SmyLIesr GhiTo|welenuld &6t pilwleyb
OH OH O CH,

| . |
Hﬁ—C—C—Cmﬂ%Hﬁ—C—?—Cm+Hp

[
CH, CH, CH,
OH

+
Hﬁ—?—?—Cm
CH, CH,

2) ?m?H
mc—?—c—cm
+
CH,

1)

OH
+
H,C —C - C —CH,
| |
CH, OH

3)

4) ) CH,
HO - ? - (|3 —C,H,
OH CH,
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41.

42.

43.

Given reaction,

C2HsBr + NaOH — C2HsOH + NaBr is called
1) Electrophilic substitution

2) Nucleophilic substitution

3) Electrophilic addition

4) Nucleophilic addition

Which among the following compounds is most
easily dehydrated in acidic medium?
1) ¢

(>
(@)
T

N
~

«
o
I

N
~—

O (O

o
I

When anisole is treated with one equivalent HI,
the products formed are
1)

Q
-

and CH,OH

- (-

N
~

and CH,OH

3)

and CH.l

N
~

(= (e ()

and C,H,OH

41.

Carhdsiul L alewer, CoHsBr + NaOH —
C2HsOH + NaBr geiaumm oienpsaliuGaps)
1) etevsL giest seuT LFHeSH

2) smbsall LFHSH

3) eTe0&L ITeT BauT GFTHmS

4) smobsalT BFTHemnd
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43.
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o
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alemeUBSHHIDCUTSI, © (HeuTGHL SWMHILILSH6NT

1) CH,
and CH,OH

2) |

© and CH,OH
3) OH

© and CH,l
4) |

© and C,H.OH
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44,

45.

46.

Benzenediazonium chloride on warming with
water gives

o4
2) @NHZ
3) @u

OH
2 @OH

The decreasing order of boiling point of the
following compounds is
(1) Butan-1-ol

(1) Tert-butyl alcohol
(111) Diethyl ether
DH>1>11

3 1>1>111

A ring of radius 10 cm is placed in a circular
magnetic field, which is varying at the rate of 10
tesla/sec. The electric field intensity at any point
on the circumference of the ring is

1) 1N/C

2) 1.5N/C

3) 0.5N/C

4) zero

2) 1> 111> 11
Hl>1>1

47. An average emf of 20 V is induced in an inductor

48.

when the current in it is changed from 2.5 amp in
one direction to the same value in the opposite
direction in 0.1 s. The self-inductance of the
inductor is

1) zero

2) 200 mH

3) 400 mH

4) 600 mH

A metal rod of length |, moving with an angular
velocity o and velocity of its centre is v. Find
potential difference between points A and B at
the instant shown in figure. A uniform magnetic
field of strength B exist perpendicular to plane of

paper
A

B
1) Bvl
2) Bvl + % Bol?
3) Bol — % Bol?
4) Bvl + Bo (1/2)?

44,

45.

46.

47.

48.

QueitFeitenL_wT@ameiwid &GemTeny(h
HemTent(HL 63T &, BLBSHHID CuITgh! CBTHLIILIG

2) @/NHz
O
OH
Wevteu(mid GaJLomimeriair Qamgmlensoulies @&enmulb
aufleng
(D) Nugl’ Ledr-1-gp60

(1) ewellenamruugl L 60 DLeOHABTEL
(1) ewLe1hHe0 AT

DI>1>1H 2) 1> 11> 11
3 1>11>1I 4AH>1>11
10 cm ouyib QBRI @ UeNETUWID @ 6L L

SMHFLILVHHe0  maudbslILbEBs, & 10
tesla/sec e aldHHHe0  OTBILIGLD.
euemeTSHFleir smBmenalled 6lbSLI Lieiellullenid Lolesr
L|6VLD

1) 1 N/C 2) 1.5N/C
3) 0.5 N/C 4) zero
Qb Wergmeniguiled o et GG LD 6(h

FHevguiev 2.5 amp Bedmba 0.1 alemmgseried
ad Fewauiled 9163 HISHEG TBBLILIGLEUTS
gyrefwrs 20 V Qa1 e QubsGaland

ST LILBSBSI. LOl6BT HITGTIQU T 65T
HEOTLOGOTHITERIL 60

1) zero 2) 200 mH

3) 400 mH 4) 600 mH

| Sen(peiten 2_Beured 1LY, Gmentd HenFGaicmd

O LBBIW SFHET mLWSHa  HmsGeusd V.
UL S0 &ML (Beiten  LeiteilaeT A o@D
Bag B Buw o sien etenipshs Ceumiim’ enL
seiBLg. @ FImer sMhHHLILevHH 6 auelleno B
SMHHSHFH  HNHHBEG OFRGHHSHTES 2 6iten
Gurgl

A

/_-\0.)

,—

-

B
1) Bvl

2) Bvl + % Bol?
3) Bol — % Bol?
4) Bvl + Bw (1/2)?
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49.

50.

51.

Two parallel rails, 1 and 2, having negligible
resistance are I=10 cm apart. They are connected
by a 5Q resistor. The two metal rods ab and cd
can slide on the rails. The rods have resistance
10Q2 and 15 Q respectively. The rods are moved
with constant velocities of 4m/s and 2m/s
parallel to the rails, as shown. A uniform
magnetic field B = 10 mT exists in the entire
space perpendicular to the figure. The current x
mA in the éQ resistor thgn c%lculate 55x.

1

b4 o

e 2 /5

1) 55 mA
2) 8 mA
3)5mA
4) 10 mA

A straight wire of length L is bent into a
semicircle. It is moved in a uniform magnetic
field with speed v with diameter perpendicular to
the field. The induced emf between the ends of
the wire is

x x

1) BLv

2) 2BLv

3) 2nBLv
4)2BvVL / m

The rms value of an A.C of 50 Hz is 10 A. The
time taken by the A.C. is reading from zero to
maximum value and peak value of current is
1)2x1072s,14.14 A

2)1x107%,7.07 A

3)5x103s,7.07 A

4)5x 1073, 14.14 A

10

49.

50.

51.

Byemi(h EeNewILITET H6WIL aITenmhisbelt, 1 oBmib 2,
Heds Gampautear eFilienus Gsmemi el |=10
cm Siena 50 L GITSHEML €LP6VLD
BenemidsliulBetener. AB  wwpmid cd  edlu
Brewih o Gourd  HILIH6T  FHeWIL GUT6NTHFH 60
gflweormd. HewiGaen (wewsGuw 10Q2 wBmib 15 Q
LG SHEML MU O TewT(HEiT6T6MI.
ST L UL (HeiTerTLg SHEWILGUT6NRIB ETHE S,
Senemiitegs 4M/S wBmIb 2M/S 616sIs 15eneuITe
Gous I 61 HwI(BH6T HHTHBUILBS BT, (M
gymen smbspligeod B = 10 mT guengl uL G560
o sfeeuTyl OFRIGHHTE (WP  BDLSHsHeuid
o sitengl. S5Q UWeaidmLwsbdHeo SBGUTEMSHW

W&TGemL_L1b X MA LTeiteun] 55X g8 et (Hb.

x a x

1

4 x

e 2 /s

1) 55 mA
2) 8 MA
3) 5mA
4) 10 mA

L memweiten Gpmymenr sl o0y  eulLLOTS
QUEMGTHBLILIL (HETT6 . 85l LevHHMES
CFmIGHHTE all LS V Cousdgiler Fyme
SMHFLILVHH60  BBIHSUILUGHBSEH.  SLbLIuNes
P BEHHE el G gmewr il L Wledr
Bus@aleng

x x x x x

1) BLv

2) 2BLv

3) 2aBLv
4)2BvL /m

50 Qamied A.C @e1 rms gy 10A. A.C
SIS GBPUSHOIEHS  HFBULE DL
wBBID WSICAITLLSHE 2 FF WHL  6euen]
aBHHS OFmenend GCBHILD

1)2x1072%s,14.14 A

2)1x107%s,7.07 A

3)5x103s,7.07 A

4)5x 1073, 14.14 A
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52. A charged capacitor C = 30 puF is connected to an

53.

54,

55.

56.

inductor L = 27 mH, the angular frequency of
their oscillation is (in rad/sec)

1) 9.1x 103

2)3x10°

3)1.1x10°

4) 0.3 x 10°

What will be the equation of ac of frequency 40
Hz if its rms value of 5v2 A?

1) 1= 10 sin (80 =t)

2) 1 =10v/2 sin 100 nt

3) i =10 /v/2 sin 80 it

4)i=5/+/2sin 80 nt

Which of the following graphs represents the
correct variation of inductive reactance with
frequency?

1) XL

2) XL

A direct current of 5A is superimposed on an
alternating current I = 10 sin cot flowing through
wire the effective value of the resulting current is
115/2A

2)5V3 A

3)5V5 A
4) 15 A

Electromagnetic waves are

1) longitudinal waves

2) transverse waves

3) longitudinal as well as transverse waves
4) neither longitudinal nor transverse waves

11

52.

53.

54.

55.

56.

Betem L ou' L WeiBshss C = 30 puF om
LOIGITHIT6UITIQ L = 27 mH o | 6ol
B ementdbBUILL (BeTengl, DBl ©ien6e06 61T 60T
Gamemt o1 TG6uewt (rad/sec @ev)

1) 9.1x 103
2)3x10°

3)1.1x 103
4) 0.3 x 10°

S TGeuant 40 Gamji e ACuiler rms waiiy 5v2
A G1GIBIT60 ©IFH60T FIDGTLTH cTeTenouTd B)(HEWD?
1) i =10 sin (80 mt)

2) | = 10v/2 sin 100 it

3) i =10 /2 sin 80 mt

4)i=5/+/2 sin 80 nt

Leiteu(hld  eueMILIL MIG6IT60 o1& Ffluiment
DIFHTOeuewT BT L6ITHTeuwNgUTesT  LOleTLOMIIL
OTEIUTL enL& GlSABEHI?

1) XL

X
2) %

L f
3) xL

A

-

S5A @1 Gpyg WeGeml LD @ LOTBHI
We@earmi_L1b | = 10 sin cot &1l euPluima umuyid
LOGITGeTTL LS ahlesT LiLIgnI6TeN oG]
1)15/2A
2)5V3 A
3)5V5 A
4)15A

STIBMHSH DIHEVHEIT

1) Bemiomesr SIene0H6iT

2) BOIHES DIH6OBH6IT

3) BETDTET LOBBID GBIGHE DIMEVHEIT

4) [S6TLOTET SI6V6VH! GHBIHEH DIENEIHET Be06eN6V
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57. A plane electromagnetic wave propagating along

58.

59.

60.

x—direction can have both electric field (E) and

magnetic field (B) vectors along

1) x and y directions respectively
2) y and z directions respectively
3) x and z directions respectively
4) y and y directions respectively

In an electromagnetic wave, the amplitude of
magnetic field Ho and the amplitude of electric
field Eo at a place are related as (c, €0 and po have
their usual meaning)

1) Ho = Eo
_ Eo
Z)HO—T
3)Ho=Eo Ko
€0
4)Ho = Eo |2

Ho

Total energy of electromagnetic waves in
vacuum is given by the relation (E, B, o, po and

¢ have their usual meaning).
1E2 1B?

1)-—+-—

2 o

280
2)%80E24-%u0B2
2, Rp2
3)E+B
c

4)58

1B?
+__
2 o

Pointing vector which gives the direction of
electromagnetic wave is defined as

1)$=ExB

2)$=EB

3 §="2

4)3 = (E x B) + (E.B)

12

S7.

58.

59.

60.

X-Femgulled UTD e Hem  LOETHTHSD
(E)  wBgib
Byewi®

SIMEOWITEIFHI  LOleOTEFmy
SBMHSLIL|6VLD (ﬁ) AW
SHeMFUIGHTHEMETULD G\SHT6uTIg(HLILIGI
1) (penmBui X BEID Y &Hend beit
2) (1pemBGW Y OBBID Z HenFHei
3) (pemBW X LBEID Z HendF Heit
4) ipermBui Y oBBID Y HenFHelt

L|6OLD

OSTBMHS DlMevUlen, R(H B HFH60 HMHSHLILEVLD
Ho 8e1 ai&Faid, 10erevid Eo &6t aiFaid @eleurm
OsTLIye»LWEH (C, € BDBID Mo  Sieumslest
QLD BLOTET QIIT(HETT)

1) Ho = Eo

2) Ho = E

=0
C

3)Ho = Eo\/E

€0

€0

4) Ho = Eo\/:

Ko
CouBpiLHFled o 6itenn WISIBMHS DIeHEVLSH6N 66T
QTHH DBBeL BB cLpevld aupEIBLILGS MBS (E,
B, €, po wBmb C SFwemer  Sieumnslest

QULDGBLOTET QIUIT(HEn6Td GEBTEwTI(B6IT6r6).
1 B2

Vaishs Semeoular FHengmuwd 6aTBHEGLD
Yelterl GleusdsL i Selleurml euenywmISSILIGS DS
1)$=ExB
2)$=EB
3)§="2
4)$ = (E x B) + (E.B)
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Physics: Electromagnetic Induction, Alternating Current, Electromagnetic Waves

01.
02.
03.
04.
05.
06.
07.
08.
09.
10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24,
25.
26.
217.
28.
29.
30.

31.

Answer: (1)
Answer: (1)
Answer: (4)
Answer: (2)
Answer: (3)
Answer: (2)
Answer: (3)
Answer: (2)
Answer: (1)
Answer: (4)
Answer: (3)
Answer: (2)
Answer: (3)
Answer: (3)
Answer: (3)
Answer: (1)
Answer: (3)
Answer: (2)
Answer: (3)
Answer: (4)
Answer: (1)
Answer: (1)
Answer: (2)
Answer: (3)
Answer: (2)
Answer: (1)
Answer: (1)
Answer: (4)
Answer: (4)
Answer: (3)

Answer: (1)
H_ CH;

H™ SCH,

Cis-2-butene

Solution
CH;, CH,
Br, H—(IZ—Br Br—(lj—H
O gt T H—d—Br
CH, (|?H3
racemic mixture of
2.3-dibromobutane

32. Answer: (4)

CH;—X: @x :

No resonance due to resonance, C — X bond is
shorter and has partial double bond character.

33. Answer: (2)

Rate of reactivity of alkyl halides « stability
of carbocation

34. Answer: (1)

Order of nucleophilicity
= CH30™ > OH™ > PhO™ > AcO~

35. Answer: (3)

-F is poor leaving group, Hoffmann

elimination takes place.

CH,-CH, -CH- CH%]%%%;%

|
F

CH; - CH,—-CH=CH:
1-butene
Hoffmann product major

ag
Ph

Trans 3-Phenyl cyclopentene
anti elimination takes place

36. Answer: (3)
H

\Br
o ale. KOH

Ho A
oW Es-elimination

Ph

37. Answer: (3)

order of reactivity

Cl Cl Cl
NO,
< <
NO,
m- 0-

rate of reactivity « EWG
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38. Answer: (1)
Attack of Br® will be most favoured on the
site where +M effect of both —OH group
operates and steric hindrance for the
electrophilic attack is

least.
39. Answer: (3)
ﬁ (I_)I\J?Igl
C,HsMgl + CH; — C — CH;—> H;C — (|3 - CH,
CZHS
CI)H OH
Jﬁﬁl;cm—$—cm+mq:
CQHS !
3% Alcohol
40. Answer: (2)
OHCH, OH CH:
—bdopL
CH,— l—cH,—a- CH —«::—r:—-::H
éH,oH @j’
CH, shifting
OH CH,
CH—c—é—cH
c&

most stable carbocation due to +R effect of
—OH group.

41. Answer: (2)
The reaction in which an electron rich
nucleophile attacks a positively charged
electrophile to replace a learning group is
called Nucleophilic substitution reaction.

&

C H; —Br +NaOH—>C H;OH + NaBr

42. Answer: (2)
The ease of dehydration is decided by the
stability of carbonium ion and the product
form.

0 0 0
OH -
(1) £ =,
—Hz0
L&ss
table
0
<2>@ é ﬁ
—H:D
f' More :’;:;:e:
kstable J dusto

resonance

0
o) 250 =0
—HzO
OH
0
@ é( éj/
—-H‘
OH

43. Answer: (3)
HO CH

S &7 &

44. Answer: (4)

NC
(:T (:T +N, + HCI

45. Answer: (3)

Boiling Point :
Butan-1-ol> t-Butyl alcohol > Diethyl ether
118°C 82°C 35°C

46. Answer: (3) )
1. Magnetic flux¢p = B.A

e:¢ E.d¢ = 2mE

=E= lrd—B:{JSNf’C
2 dt

47. Answer: (3)

As .c;——LE

dt
ﬂ: (—2.5)—(2.5) — 50 A/s
dt 0.10

Self inductance L = =400 mH

(d/)
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48. Answer: (1)
Point P is at instantaneous rest,

1. (€ vY
€1 =|vp—Vval= 5Bm[—+l)

2 o
1 ¢ vY

& = |Vvp—vg|= —Bo| ———
2= Vo= Vel = 2 {2 m}

[va — vB| = €] - &

|va — vp| =Bév

) =
>

sl<
—
]
o

-

49. Answer: (2)
Emf induced in rod ab is E; = Bv,L sin 60°

Here L = length of ab

L sin 60° = €= 10 cm = separation between the
rails

SE=Byil=10x10"x4x0.1=4mV
Emf induced cd is g2 = Bvaf
=10x10°x2x0.1 =2mv

50. Answer: (4)
Induced emf e = BvE

2BvL
e =Bv(2R) = =
T
51. Answer: (4)
t:I:L:L: 5x 107 sec
4 4f 200

iO = \E irms N 10\/5

52. Answer: (3)
|

O=—F—

NITY)

53. Answer: (1)
1= ipsin (wt)
®=2nf=2ntx40=807

i(l: \/Eirms: 10 A

54. Answer: (3)

X, = oL =2xrfL
XLCCf

55. Answer: (2)

2
irms = 52 +lg = \/%:5\/5

i=5+10sin ot

56. Answer: (2)

Electromagnetic waves are transverse waves
by nature.

57. Answer: (2)

In an electromagnetic wave both electric and
magnetic fields are mutually perpendicular to
each other and are perpendicular to the
direction of propagation of the wave.

58. Answer: (4)

€0

Relation between Ho and Ep is Ho _
Eo Ho

59. Answer: (4)

BZ
Total energy = %EOEZ + %u—
0

60. Answer: (1)

Direction of electromagnetic wave is
perpendicular to E and B.
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